mean # PXL hits vs eta

<pixel hits>

Ratio

........................................

.............................

=

0.95L

83

0 1T 2 3
n

| mean # PXL Layers with measurement vs eta

.
4]

<pixel layers>
= N w
a0 N U1l W N
I I I I I [T 'é

o
a
I

...............

......................................................

......................................................

...............

Ratio
F
. &

0.95

]
g
i

ke

<strip hits> ™

—=— DQM _original_step?2_ttbar-phasel-newgeom
mean # STRIP hits v —— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—— DQM_pixelCPEChi20R_step?2_ttbar-

phasel-newgeom

T

5

<strip layers>
N

Ratio




	Contents
	Page 1


